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Adjoint and Inverse of Matrix Ex 7.2 Q1
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S0, B = is the inverse of 4,



Adjoint and Inverse of Matrix Ex 7.2 Q2
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For row- transformation 4 = 74
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1 = |2 0
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|- 5] | S
Applying A — 5.FR;
.21 [1
1 = = I
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Herce, B = [1 _52} is the inverse of 4
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Adjoint and Inverse of Matrix Ex 7.2 Q3

Let 4= 1
-3 5

For row fransformations 4 = 74

1 & 10
3 5] |0 1) &
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1 & . .
Herce, B = ﬁ[S 1} is the inverse of 4



Adjoint and Inverse of Matrix Ex 7.2 Q4
A 2 5
1 =
Mow, A=14
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Applying & — ERl
Applying Ry — Ry - Ry
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Applying Ry — 2R,
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Applying Ry — Ry -3

or I=BA

Hence, & is the inv, of 4



Adjoint and Inverse of Matrix Ex 7.2 Q5

A=[3 10}
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Mow, A=174
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Hence, B is the inv, of 4



Adjoint and Inverse of Matrix Ex 7.2 Q6
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Adjoint and Inverse of Matrix Ex 7.2 Q7

A=T4
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S 1 of=(o1 014
o1 = oo 1
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1 0 i l o0
e 2
1 Of=|0 1 0|4
o1 = o o1
Applying R, — R, - 5R
° 11 -
1 0 — — 00
e 2
o1 E =_—5 1 014
e e
o1 = I
APPIYINg Ry = R, - Ry
1 0 i l a0
2 2
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e 2
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oo = - -1 1
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ool = -2 2



Adjoint and Inverse of Matrix Ex 7.2 Q8

2 21
A=2 4 1
2 72
Here, A=7.24
2 31 1 00
2 4 1|=|0 1 0|A
3 7 2 o001
. 1
Appl*fngl%ERl
1 2 Loo
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2 4 1|=|0 1 0|4
3 7 2 o0

f-"pplt-fiﬂ_g%ﬁﬂ_z—_z% Ry = Fg — 3Ry

1 21 L go
2 2| |2

01 0f=|-1 1 0|a

0221 |2 01
2 2] |2

APPIYING Ry = Ry = 2Ry, Ry = Ry = 2R,

1 0 E 2 _—3 ]
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01 0j=|-1 1 0O]4
oo l 1 _—5 1
L 2_ 2 -
Applying Ry — 2R,
1 0 E z2 _—3 ]
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Adjoint and Inverse of Matrix Ex 7.2 Q9

3 -3 4
A=z -3 4
0 -1 1
Mow, A=714
3 -3 4] [1 00
2 -3 4|=|0 1 0.4
0 -1 1| (001
. 1
Applying /Ry — )
[ 4] [1
1 -1 =| [z 00
3| |3
2 -3 4(=|0 1 0|lA
0 -1 1 |0 01
Applying Ry —= R, -2/,
11 2 oo
3 3
4| |-2
0 -1 =|=|= 1 0|.A
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Applying R, — [-1}R,
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0 -1 1 o0 0 1
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Hence, & is the inv, of 4.



Adjoint and Inverse of Matrix Ex 7.2 Q10

1 2 0
A=12 3 -1

1 -1 =
A=14
1 2 0 1 00
2 2 -1(=(0 1 0]4
1 -1 = ool

Applying Ry = Ry - 2Ry, Ry — Ay - Ry
1 2 0 1 0 0]
0 -1 -1|=|-2 1 0.4
0 -3 3 -1 0 1]
Applying R, — [-1)R,

1 2 o] [1 0 q
01 1|=|2 -1 0L4
0 -3 3] |-1 0 1]
APPIYING Ry — Ry - 2R, Ry = Ry + 3R,
1 0 -2] [-2 2 O]
01 1]|=|2 -1 0.4
o0 6] |5 -3 1]

»&Dplviﬂg%ﬁ%
10 -2 |- 2z 0
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00 1 5 -1 1
& 2 6
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1
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Adjoint and Inverse of Matrix Ex 7.2 Q11

2 -1 Z
A=11 2 4
21 1
A=14
2 -1 = 1 00
1 2 4(=|0 1 0.4
2 1 1 001
Applying&a%
1 232 oo
2 2 2
1 2 4(=|0 1 0.4
2 1 1 o 01
APPIYING Ry = Ry =Ry, Ry = Ry = 3R
1 2L 2L g
2 2 2
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2 2 2
5 -7 -3
0 = — — 01
2 2| |2 1
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F -
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Applying /7 *R1+%sz %*%—g%
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10 2 51;
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Adjoint and Inverse of Matrix Ex 7.2 Q12

112
A=13 1 1

2 31
A=1A
112 1 00
=1 1{=(0 1 0
2 321 o o1

APPIYING Ry — R = 3Ry, Ry = Ry - 2R

11 2 1 00
0 -2 -5|=|-3 1 0|4
01 -3 |2 01
%D'Fiﬂg%*%
(11 2 1 0 0
01 E = E __1 0.4
z Z2 Z
01 -3 [-2 01
APplying Ry — Ry - Ry, Ry = R - R,
1 o L 11,
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Adjoint and Inverse of Matrix Ex 7.2 Q13

2 -1 4
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3 -2 7 o o1
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e 2
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e
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2
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2 1
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2
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=484

Hence, & is the inv, of 4.



Adjoint and Inverse of Matrix Ex 7.2 Q14

. 1
Applying Ry — gF’i
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Hence, & is the inv, of 4,



Adjoint and Inverse of Matrix Ex 7.2 Q15
Consider the given matrix:
1 3 -2
letA=| -3 0 1
2 10
We know that A= 1A
Thus, we have,
1 3-2] [100
-30 1 [=|010}A
2 10 001

Applying R; =+ 3R+ R; and R3; = Ry — 2R, we have,

(1 3 -2 1 00
09 -5|=| 3 10|a

' 0-54 ] [-201

Applying Ry = Ry —3R; and R3 = R3 +5R5, we have,
—1 -1

10 N 0 N
-5 1 1

01 ? = ? g 0 A
11 -1 5

_DD ?_ _? g ]._

R
Applying Ry — 1—11 we have,

] _ -1
1@%1 0 3 0
11
01_?5_§§ e
-3 5 9
-DDl-_ll 11 11 |

Applying R; = Rs + %Rg and R{—» R+ %Rg, we have,

-1 -2 3
11 11 11
100
o10l=| = L =2 |a
ool 11 11 11
-3 5 9
11 11 11 |
-1 -2 3 ]
11 11 11
| 2 a4 s
= Inverse of the given matrix is 11 11 11
-3 5 9




| 11 11
Adjoint and Inverse of Matrix Ex 7.2 Q16

-112
Consider the given matrix| 1 2 3
3 11
-112
letA=| 1 23
3 11

We know that A= 14

-112 100
= 1 23 |=|010}A

3 11 001
Applying Ry - (—=1JRq, we have

R
Applying R; — ?2, we have,

(1 -1-2| [-100]
1 2 3 |=| 0 101}A
31 1] |0 01]
Applying R; = R; — Ry, R3 = R3 — 3R, we have
(1 -1-2| [-100]
03 5 |=| 1 10|A
0 4 7 3 01|

11 |

1 -1-27 T1-1 00O
5 1 1
01 —|=|— — 0 |A
3 3 3
o4 v 1 L3 01
Applying Ry — R+ R, and Ry = R3; —4R,, we have
| 1] [ 2 1 ]
10 —-—— -— — 0
3 3 3
5 1 1
01 — |5 — — 0JA
3 3 3
1 5 -4
00 — — — 1
i 3 ] | 3 3 |
. R3
Applying R3 —» R we have
I 1] [ 2 1 ]
10 —— -— — 0
3 3 3
5 |=] 1 1 A
01 — — — 0
3 3 3
oo 1 | | 5 —-43]

Applying Rq{— R, + %RE, Ry—=F5;— %Rg, we have,



100 1 -1 1
0Olo|=-8 7 -5}A
001 5 -4 3

1 =11

Thus, the inverse of the given matrix is| -8 7 =5 |.

5 -4 3





